# ON THE ( $p, q$ )-POLY-KOROBOV POLYNOMIALS AND RELATED POLYNOMIALS ${ }^{\dagger}$ 

BURAK KURT* AND VELI KURT


#### Abstract

D.S. Kim et al. [9] considered some identities and relations for Korobov type numbers and polynomials. In this work, we investigate the degenerate Korobov type Changhee polynomials and the ( $p, q$ )-poly-Korobov polynomials. We give a generalization of the Korobov type Changhee polynomials and the $(p, q)$ poly-Korobov polynomials. We prove some properties and identities and explicit relations for these polynomials.

AMS Mathematics Subject Classification : 11B68, 11B83, 11S80, 05A19, 05A40. Key words and phrases : Bernoulli polynomials and numbers, Euler polynomials and numbers, Polylogarithms, Changhee numbers and polynomials, Stirling numbers of the second kind, the first kind Korobov polynomials, Multiple-Polylogarithms, poly-Bernoulli polynomials, Poly-Euler polynomials, Degenerate Korobov type Changhee polynomials, The (p,q)-PolyKorobov polynomials, The (p,q)-Poly-Korobov type Changhee polynomials.


## 1. Introduction

A usual, throughout this paper, $\mathbb{N}$ denotes the set of natural numbers, $\mathbb{N}_{0}$ denotes the set of nonnegative integers, $\mathbb{Z}$ denotes the set of integer numbers, $\mathbb{R}$ denotes the set of real numbers. We begin by introducing the following definitions and notations (see also [2]-[17]). It is well known, the Bernoulli polynomials $B_{n}^{(\alpha)}(x)$ of order $\alpha$ and the Euler polynomials $E_{n}^{(\alpha)}(x)$ of order $\alpha$ are defined by the following generating functions, respectively;

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}=\left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t},|t|<2 \pi \tag{1}
\end{equation*}
$$

[^0]and
\[

$$
\begin{equation*}
\sum_{n=0}^{\infty} E_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}=\left(\frac{2}{e^{t}+1}\right)^{\alpha} e^{x t},|t|<\pi . \tag{2}
\end{equation*}
$$

\]

For $x=0, B_{n}^{(\alpha)}(0)=B_{n}^{(\alpha)}$ and $E_{n}^{(\alpha)}(0)=E_{n}^{(\alpha)}$ are called the Bernoulli numbers $B_{n}^{(\alpha)}$ of order $\alpha$ and the Euler numbers $E_{n}^{(\alpha)}$ of order $\alpha$.

Generating function for the Stirling numbers of the second kind in ([8], [9], [10]) are given by

$$
\begin{equation*}
\frac{\left(e^{t}-1\right)^{k}}{k!}=\sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \tag{3}
\end{equation*}
$$

The polylogarithm function $L i_{k}(z)$ in ([2], [4], [5]) is defined

$$
\begin{equation*}
L i_{k}(z)=\sum_{n=1}^{\infty} \frac{z^{n}}{n^{k}}, k \in \mathbb{Z}, k>1 \tag{4}
\end{equation*}
$$

This function is convergent for $|z|<1$, when $k=1$

$$
\begin{equation*}
L i_{1}(z)=-\log (1-z) \tag{5}
\end{equation*}
$$

The multi-logarithm [6] is defined by

$$
\begin{equation*}
L i_{k_{1}, \cdots, k_{n}}(z)=\sum_{0<m_{1}<\cdots<m_{n}} \frac{z^{m_{n}}}{m_{1}^{k_{1}} \cdots m_{n}^{k_{n}}}, k_{i} \geq 1,|z|<1 . \tag{6}
\end{equation*}
$$

From (6), the following equation can be obtain easily

$$
\begin{equation*}
L i_{\underbrace{1, \cdots, 1}_{n \text { times }}}(z)=\frac{1}{n!}(-\log (1-z))^{n} \tag{7}
\end{equation*}
$$

Kim et al. in [7] defined the poly-Bernoulli polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathcal{B}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{L i_{k}\left(1-e^{-t}\right)}{e^{t}-1} e^{x t} \tag{8}
\end{equation*}
$$

For $k=1$, we have $\mathcal{B}_{n}^{(1)}(x)=B_{n}(x)$.
Hamahata in [4] defined the poly-Euler polynomials as

$$
\begin{equation*}
\frac{2 L i_{k}\left(1-e^{-t}\right)}{t\left(e^{t}+1\right)} e^{x t}=\sum_{n=0}^{\infty} \mathcal{E}_{n}^{(k)}(x) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

when $k=1, \mathcal{E}_{n}^{(1)}(x)=E_{n}(x)$.
For $z=1$, multi-logarithm function is closely related to multiple zeta values as

$$
L i_{k_{1}, \cdots, k_{n}}(1)=\zeta\left(k_{1}, \cdots, k_{n}\right), k_{i} \geq 1, k_{n} \geq 2
$$

The special values of the multi-logarithm function (see detail in [5], [6]) are following as

$$
L i_{1}(z)=-\log (1-z), L i_{1,1}(z)=\frac{1}{2!}(-\log (1-z))^{2}, \cdots
$$

$$
\begin{equation*}
L i_{i_{n \text { times }}^{1, \cdots, 1}}(z)=\frac{1}{n!}(-\log (1-z))^{n} \tag{10}
\end{equation*}
$$

D. S. Kim et al. in [10] defined the Changhee polynomials and the first kind Korobov polynomials the following generating functions, respectively,

$$
\begin{equation*}
\sum_{n=0}^{\infty} C h_{n}(x) \frac{t^{n}}{n!}=\frac{2}{t+2}(1+t)^{x} \tag{11}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} K_{n}(x \mid \lambda) \frac{t^{n}}{n!}=\frac{\lambda t}{(1+t)^{\lambda}-1}(1+t)^{x} \tag{12}
\end{equation*}
$$

When $x=0, C h_{n}(0)=C h_{n}$ and $K_{n}(0 \mid \lambda)=K_{n}(\lambda)$ are called the Changhee numbers and the Korobov numbers, respectively.

The Korobov-type Changhee polynomials in [10] are defined the following generating function as

$$
\begin{equation*}
\sum_{n=0}^{\infty} C h_{n}(x \mid \lambda) \frac{t^{n}}{n!}=\frac{2}{(1+t)^{\lambda}+1}(1+t)^{x} \tag{13}
\end{equation*}
$$

when $x=0, C h_{n}(0 \mid \lambda)=C h_{n}(\lambda)$ are called the Korobov-type Changhee numbers. Note that

$$
\lim _{\lambda \rightarrow 1} C h_{n}(x \mid \lambda)=C h_{n}(x) \text { and } \lim _{\lambda \rightarrow 0} C h_{n}(x \mid \lambda)=(x)_{n}
$$

where

$$
\begin{equation*}
(x)_{n}=x(x-1)(x-2) \cdots(x-n+1) \tag{14}
\end{equation*}
$$

For $\lambda \in \mathbb{R}$, Carlitz [3] introduced the degenerate Bernoulli polynomials by means of the following generating function:

$$
\begin{equation*}
\frac{t}{(1+\lambda t)^{1 / \lambda}-1}(1+\lambda t)^{x / \lambda}=\sum_{n=0}^{\infty} \mathfrak{B}_{n}(x \mid \lambda) \frac{t^{n}}{n!} \tag{15}
\end{equation*}
$$

so that

$$
\mathfrak{B}_{n}(x \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} \mathfrak{B}_{m}(\lambda)\left(\frac{x}{\lambda}\right)_{n-m} .
$$

From (5), we note that

$$
\begin{gathered}
\sum_{n=0}^{\infty} \lim _{\lambda \rightarrow 0} \mathfrak{B}_{n}(x \mid \lambda) \frac{t^{n}}{n!}=\lim _{\lambda \rightarrow 0} \frac{t}{(1+\lambda t)^{1 / \lambda}-1}(1+\lambda t)^{x / \lambda} \\
=\frac{t}{e^{t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}
\end{gathered}
$$

where $B_{n}(x)$ are the Bernoulli polynomials.

## 2. Degenerate Korobov-type Changhee Polynomials

In this section, we will give some relations and identities for the Changhee polynomials and the Korobov-type Changhee polynomials. Further, we define the degenerate Korobov-type Changhee polynomials and prove some relationships for these polynomials.

From (13), we have following relations easily

$$
\begin{gathered}
C h_{n}(x \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} C h_{m}(\lambda)(x)_{n-m}, \\
C h_{n}(x+y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} C h_{m}(x \mid \lambda)(y)_{n-m}
\end{gathered}
$$

and

$$
C h_{n}^{(\alpha+\beta)}(x \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} C h_{m}^{(\alpha)}(x \mid \lambda) C h_{n-m}^{(\beta)}(\lambda) .
$$

Theorem 2.1. The following relation holds true:

$$
\begin{equation*}
\sum_{n=0}^{j} C h_{n}(x \mid \lambda) S_{2}(j, n)=E_{j}\left(\frac{x}{\lambda}\right) \lambda^{j} \tag{16}
\end{equation*}
$$

Proof. By replacing $t$ by $e^{-t}-1$ in (13), we get

$$
\begin{gathered}
\sum_{n=0}^{\infty} C h_{n}(x \mid \lambda) \frac{\left(e^{-t}-1\right)^{n}}{n!}=\frac{2}{e^{-t \lambda}+1} e^{-t x} \\
\sum_{n=0}^{\infty} C h_{n}(x \mid \lambda) \sum_{j=0}^{\infty} S_{2}(j, n)(-1)^{j} \frac{t^{j}}{j!}=\sum_{j=0}^{\infty} E_{j}\left(\frac{x}{\lambda}\right)(-1)^{j} \frac{t^{j}}{j!} .
\end{gathered}
$$

From here, we get (16).
From $\lim _{\lambda \rightarrow 0}(1+\lambda t)^{1 / \lambda}=e^{x t}$. We consider the degenerate function of $t$ which are given by

$$
t=\lim _{\lambda \rightarrow 0} \log (1+\lambda t)^{1 / \lambda}
$$

$\frac{\log (1+\lambda t)}{\lambda}$ is called the degenerate function of $t$. Now we consider the degenerate Korobov-type Changhee polynomials the following generating function as

$$
\begin{equation*}
\sum_{n=0}^{\infty} C h_{n, \lambda}(x) \frac{t^{n}}{n!}=\frac{2}{\left(1+\frac{1}{\lambda} \log (1+\lambda t)\right)^{\lambda}+1}\left(1+\frac{1}{\lambda} \log (1+\lambda t)\right)^{x} \tag{17}
\end{equation*}
$$

where $\lambda \in \mathbb{R}$. For $x=0, C h_{n, \lambda}(0):=C h_{n, \lambda}$ is degenerate Korobov-type Changhee numbers.

Theorem 2.2. The following relation holds true:

$$
\begin{equation*}
\sum_{k=0}^{\infty} \sum_{p=0}^{n} C h_{k, \lambda}(x) p!\frac{l^{p} \lambda^{p-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} S_{2}(n, p)=E_{n}\left(\frac{x}{\lambda}\right) \lambda^{n} \tag{18}
\end{equation*}
$$

Proposition 2.3. From (3) and by using $t$ by $\frac{e^{\lambda\left(e^{t}-1\right)}-1}{\lambda}$ in (17), we get

$$
\begin{gathered}
\sum_{k=0}^{\infty} C h_{k, \lambda}(x) \frac{1}{k!} \lambda^{-k}\left(e^{\lambda\left(e^{t}-1\right)}-1\right)^{k}=\frac{2}{e^{t \lambda}+1} e^{x t} \\
\sum_{k=0}^{\infty} C h_{k, \lambda}(x) \frac{1}{k!} \lambda^{-k} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} e^{\lambda l\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} E_{n}\left(\frac{x}{\lambda}\right) \lambda^{n} \frac{t^{n}}{n!} \\
\sum_{k=0}^{\infty} C h_{k, \lambda}(x) \frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} \sum_{p=0}^{\infty}(\lambda l)^{p} \frac{\left(e^{t}-1\right)^{p}}{p!}=\sum_{n=0}^{\infty} E_{n}\left(\frac{x}{\lambda}\right) \lambda^{n} \frac{t^{n}}{n!} \\
\sum_{k=0}^{\infty} C h_{k, \lambda}(x) \frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} \sum_{p=0}^{\infty}(\lambda l)^{p} \sum_{n=0}^{\infty} S_{2}(n, p) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} E_{n}\left(\frac{x}{\lambda}\right) \lambda^{n} \frac{t^{n}}{n!} .
\end{gathered}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ both sides, we have (18).

## 3. On The $(p, q)$-Poly-Korobov Polynomials and Related Polynomials

In this section, we consider and investigate the $(p, q)$-poly-Korobov polynomials and the ( $p, q$ )-poly-Korobov-type Changhee polynomials. Also, we give some relations and identities for these polynomials.

Definition 3.1. We define the $(p, q)$-poly-Korobov polynomials and the $(p, q)$ -poly-Korobov-type Changhee polynomials as the following generating functions, respectively:

$$
\begin{equation*}
\sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!}=\frac{\lambda L i_{k, p, q}\left(1-e^{-t}\right)}{(t+1)^{\lambda}-1}(1+t)^{x} \tag{19}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} C h_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!}=\frac{2 L i_{k, p, q}\left(1-e^{-t}\right)}{t\left((1+t)^{\lambda}+1\right)}(1+t)^{x} \tag{20}
\end{equation*}
$$

where $p, q$ real numbers such that $0<q<p \leq 1$ and the polylogarithm function is defined as

$$
\begin{equation*}
L i_{k, p, q}(t)=\sum_{n=1}^{\infty} \frac{t^{n}}{[n]_{p, q}^{k}} . \tag{21}
\end{equation*}
$$

The polynomials $K_{n, p, q}^{(k)}(0 \mid \lambda):=K_{n, p, q}^{(k)}(\lambda)$ are called the $(p, q)$-poly-Korobov numbers and the polynomials $C h_{n, p, q}^{(k)}(0 \mid \lambda):=C h_{n, p, q}^{(k)}(\lambda)$ are called the $(p, q)$ -poly-Korobov-type Changhee numbers.

The polynomial $[n]_{p, q}=\frac{p^{n}-q^{n}}{p-q}$ is the $n$-th $(p, q)$ integer [11].

The first values of the $(p, q)$-polylogarithm function for $k \leq 0$,

$$
\begin{aligned}
L i_{0, p, q}(t) & =\frac{x}{1-x}, L i_{-1, p, q}(t)=\frac{x}{(1-p x)(1-q x)} \\
L i_{-2, p, q}(t) & =\frac{x(1+p q x)}{\left(1-p^{2} x\right)\left(1-q^{2} x\right)(1-p q x)}, \cdots
\end{aligned}
$$

The $(p, q)$-polylogarithm function for $k \leq 0$ is a rational function. For $k$ is a nonnegative integer

$$
L i_{-k, p, q}(t)=\sum_{n=1}^{\infty} \frac{x^{n}}{[n]_{p, q}^{-k}}=\frac{1}{(p-q)^{k}} \sum_{l=0}^{k}(-1)^{k-l}\binom{k}{l} \frac{p^{l} q^{k-l} x}{1-p^{l} q^{k-l} x}
$$

For $n=3$ in (8), we get

$$
\begin{equation*}
L i_{1,1,1}(t)=\frac{1}{3!}(-\log (1-t))^{3} \tag{22}
\end{equation*}
$$

From (19) and (22), for $k=p=q=1$, we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty} K_{n, 1,1}^{(1)}(x \mid \lambda) \frac{t^{n}}{n!}=\frac{\lambda L i_{1,1,1}\left(1-e^{-t}\right)}{(t+1)^{\lambda}-1}(1+t)^{x} \\
&= \frac{t^{2}}{3!} \frac{\lambda t}{(t+1)^{\lambda}-1}(1+t)^{x}=\frac{1}{3!} \sum_{n=0}^{\infty}(n-1) n K_{n-2}(x \mid \lambda) \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients, we have

$$
K_{n, 1,1}^{(1)}(x \mid \lambda)=\frac{1}{3!} n(n-1) K_{n-2}(x \mid \lambda)
$$

Similarly, from (20) and (22), for $k=p=q=1$, we have

$$
C h_{n, 1,1}^{(1)}(x \mid \lambda)=\frac{2}{3!} n(n-1) C h_{n-2}(x \mid \lambda) .
$$

Theorem 3.2. The following relations holds true:

$$
\begin{align*}
K_{n, p, q}^{(k)}(x \mid \lambda) & =\sum_{m=0}^{n}\binom{n}{m}(x)_{n-m} K_{m, p, q}^{(k)},  \tag{i}\\
C h_{n, p, q}^{(k)}(x \mid \lambda) & =\sum_{m=0}^{n}\binom{n}{m}(x)_{n-m} C h_{m, p, q}^{(k)}, \\
K_{n, p, q}^{(k)}(x+y \mid \lambda) & =\sum_{m=0}^{n}\binom{n}{m} K_{m, p, q}^{(k)}(x \mid \lambda)(y)_{n-m} \tag{ii}
\end{align*}
$$

and

$$
C h_{n, p, q}^{(k)}(x+y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} C h_{m, p, q}^{(k)}(x \mid \lambda) \quad(y)_{n-m}
$$

Theorem 3.3. There are the following relationships for the ( $p, q$ )-poly-Korobov polynomials and the ( $p, q$ )-poly-Korobov-type Changhee polynomials:

$$
\begin{align*}
& K_{n, p, q}^{(k)}(x+\lambda \mid \lambda)-K_{n, p, q}^{(k)}(x \mid \lambda) \\
& =\lambda \sum_{r=0}^{m}\binom{m}{r} \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1+r}}{[n+1]_{p, q}^{k}} S_{2}(r, n+1)(x)_{m-r} \tag{23}
\end{align*}
$$

and

$$
\begin{align*}
& m\left(C h_{m-1, p, q}^{(k)}(x+\lambda \mid \lambda)+C h_{m-1, p, q}^{(k)}(x \mid \lambda)\right) \\
& =2 \sum_{r=0}^{m}\binom{m}{r} \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1+r}}{[n+1]_{p, q}^{k}} S_{2}(r, n+1)(x)_{m-r} \tag{24}
\end{align*}
$$

Proof. By using (19) and (3), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty}\left(K_{n, p, q}^{(k)}(x+\lambda \mid \lambda)-K_{n, p, q}^{(k)}(x \mid \lambda)\right) \frac{t^{n}}{n!}=\lambda L i_{k, p, q}\left(1-e^{-t}\right)(1+t)^{x} \\
& =\lambda \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1}}{[n+1]_{p, q}^{k}} \frac{\left(e^{-t}-1\right)^{n+1}}{(n+1)!} \sum_{l=0}^{\infty}(x)_{l} \frac{t^{l}}{l!} \\
& \quad=\lambda \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1}}{[n+1]_{p, q}^{k}} \sum_{r=0}^{\infty} S_{2}(r, n+1)(-1)^{r} \frac{t^{r}}{r!} \sum_{l=0}^{\infty}(x)_{l} \frac{t^{l}}{l!}
\end{aligned}
$$

By using the Cauchy product rule and comparing the coefficient both sides, we have (23).

The proof of equation (24) can be make easily, we omit it.
Corollary 3.4. From (23) and (24), we have the following relationships between the ( $p, q$ )-poly-Korobov polynomials and the ( $p, q$ )-poly-Korobov-type Changhee polynomials:

$$
\begin{aligned}
& 2\left(K_{m, p, q}^{(k)}(x+\lambda \mid \lambda)-K_{m, p, q}^{(k)}(x \mid \lambda)\right) \\
& =\lambda m\left(C h_{m-1, p, q}^{(k)}(x+\lambda \mid \lambda)+C h_{m-1, p, q}^{(k)}(x \mid \lambda)\right) .
\end{aligned}
$$

Theorem 3.5. The following relation holds true:

$$
\begin{align*}
& \sum_{r=0}^{m}\binom{m}{r} K_{r, p, q}^{(k)}(x \mid \lambda)(\lambda)_{m-r}-K_{m, p, q}^{(k)}(x \mid \lambda) \\
& =\lambda \sum_{r=0}^{m}\binom{m}{r} \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1+r}}{[n+1]_{p, q}^{k}} S_{2}(r, n+1)(x)_{m-r} \tag{25}
\end{align*}
$$

where is $(x)_{n}=x(x-1) \cdots(x-n+1)$.

Proposition 3.6. From (19), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!}\left((t+1)^{\lambda}-1\right)=\lambda L i_{k, p, q}\left(1-e^{-t}\right)(1+t)^{x} \\
& \quad \sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!} \sum_{l=0}^{\infty}(\lambda)_{l} \frac{t^{l}}{l!}-\sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!} \\
& =\lambda \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1}}{[n+1]_{p, q}^{k}} \sum_{r=0}^{\infty} S_{2}(r, n+1)(-1)^{r} \frac{t^{r}}{r!} \sum_{l=0}^{\infty}(\lambda)_{l} \frac{t^{l}}{l!}
\end{aligned}
$$

Using Cauchy product rule to every side of these equalities and comparing the coefficients, we have (25).

Corollary 3.7. From (23) and (25), we have
$\sum_{r=0}^{m}\binom{m}{r} K_{r, p, q}^{(k)}(x \mid \lambda)(\lambda)_{m-r}-K_{m, p, q}^{(k)}(x \mid \lambda)=K_{n, p, q}^{(k)}(x+\lambda \mid \lambda)-K_{n, p, q}^{(k)}(x \mid \lambda)$.
Theorem 3.8. The following relation holds true:

$$
\begin{align*}
& \sum_{r=0}^{m} r\binom{m}{r} C h_{r-1, p, q}^{(k)}(x \mid \lambda)(x)_{m-r}+m C h_{m-1, p, q}^{(k)}(x \mid \lambda) \\
& =2 \sum_{r=0}^{m}\binom{m}{r} \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1+r}}{[n+1]_{p, q}^{k}} S_{2}(r, n+1)(x)_{m-r} . \tag{26}
\end{align*}
$$

Proof. By using (20), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty} C h_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n+1}}{n!}\left((1+t)^{\lambda}+1\right)=2 L i_{k, p, q}\left(1-e^{-t}\right)(1+t)^{x} \\
& \sum_{m=0}^{\infty} m C h_{m-1, p, q}^{(k)}(x \mid \lambda) \frac{t^{m}}{m!} \sum_{l=0}^{\infty}(\lambda)_{l} \frac{t^{l}}{l!}+\sum_{m=0}^{\infty} C h_{m-1, p, q}^{(k)}(x \mid \lambda) \frac{t^{m}}{m!} \\
& \quad=2 \sum_{n=0}^{\infty} \frac{(n+1)!(-1)^{n+1}}{[n+1]_{p, q}^{k}} \sum_{r=0}^{\infty} S_{2}(r, n+1)(-1)^{r} \frac{t^{r}}{r!} \sum_{l=0}^{\infty}(x)_{l} \frac{t^{l}}{l!}
\end{aligned}
$$

Using Cauchy product rule to every side of these equalities and comparing the coefficients, we have (26).

Corollary 3.9. From (24) and (26), we have

$$
\begin{aligned}
& \sum_{r=0}^{m} r\binom{m}{r} C h_{r-1, p, q}^{(k)}(x \mid \lambda)(x)_{m-r}+m C h_{m-1, p, q}^{(k)}(x \mid \lambda) \\
& \quad=m\left(C h_{m-1, p, q}^{(k)}(x+\lambda \mid \lambda)+C h_{m-1, p, q}^{(k)}(x \mid \lambda)\right)
\end{aligned}
$$

Theorem 3.10. There is the following relationships between the $(p, q)$-polyKorobov polynomials and the Bernoulli polynomials

$$
\begin{equation*}
\sum_{n=0}^{m} K_{n, p, q}^{(k)}(x \mid \lambda) S_{2}(m, n)(-1)^{m}=\sum_{l=0}^{m}\binom{m}{l} B_{m-l}\left(\frac{x}{\lambda}\right)(-\lambda)^{m-l} \frac{(-1)^{l} l!}{[l+1]_{p, q}^{k}} \tag{27}
\end{equation*}
$$

Proof. By replacing $t$ by $e^{-t}-1$ in (19), we get

$$
\begin{gathered}
\sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{\left(e^{-t}-1\right)^{n}}{n!}=\frac{\lambda e^{-t x}}{e^{-t \lambda}-1} L i_{k, p, q}(-t) \\
=-\frac{1}{t} \frac{(-\lambda t)}{e^{-t \lambda}-1} e^{-t \lambda\left(\frac{x}{\lambda}\right)} L i_{k, p, q}(-t) \\
=-\frac{1}{t} \sum_{m=0}^{\infty} B_{m}\left(\frac{x}{\lambda}\right)(-\lambda)^{m} \frac{t^{m}}{m!} \sum_{l=0}^{\infty} \frac{(-1)^{l+1} l!}{[l+1]_{p, q}^{k}} \frac{t^{l+1}}{l!} \\
\sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \sum_{m=n}^{\infty} S_{2}(m, n)(-1)^{m} \frac{t^{m}}{m!}=\sum_{r=0}^{\infty} B_{r}\left(\frac{x}{\lambda}\right)(-\lambda)^{r} \frac{t^{r}}{r!} \sum_{l=0}^{\infty} \frac{(-1)^{l} l!}{[l+1]_{p, q}^{k}} \frac{t^{l}}{l!} .
\end{gathered}
$$

Using Cauchy product rule and comparing both sides of these equation, we have (27).

Theorem 3.11. There is the following relationships between the $(p, q)$-poly-Korobov-type Changhee polynomials and the Euler polynomials:

$$
\begin{equation*}
\sum_{n=0}^{\infty} n C h_{n-1, p, q}^{(k)}(x \mid \lambda) S_{2}(r, n)(-1)^{r}=r \sum_{l=0}^{r-1}\binom{r-1}{l} E_{r-1-l}\left(\frac{x}{\lambda}\right) \frac{\lambda^{r-l+1} l!}{[l+1]_{p, q}^{k}} \tag{28}
\end{equation*}
$$

Proof. By replacing $t$ by $e^{-t}-1$ in (20), we get

$$
\begin{gathered}
\sum_{n=0}^{\infty} C h_{n, p, q}^{(k)}(x \mid \lambda) \frac{\left(e^{-t}-1\right)^{n}}{n!}=\frac{2 e^{-t x}}{\left(e^{-t}-1\right)\left(e^{-t \lambda}+1\right)} L i_{k, p, q}(-t) \\
\sum_{n=0}^{\infty} C h_{n, p, q}^{(k)}(x \mid \lambda) \frac{\left(e^{-t}-1\right)^{n+1}}{n!}=\sum_{n=0}^{\infty} E_{n}\left(\frac{x}{\lambda}\right)(-\lambda)^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} \frac{(-t)^{n+1}}{[n+1]_{p, q}^{k}} \\
\sum_{n=0}^{\infty}(n+1) C h_{n, p, q}^{(k)}(x \mid \lambda) \sum_{r=0}^{\infty} S_{2}(r, n+1)(-1)^{r} \frac{t^{r}}{r!} \\
=\sum_{r=0}^{\infty}\left(r \sum_{l=0}^{r-1}\binom{r-1}{l} E_{r-1-l}\left(\frac{x}{\lambda}\right)(-\lambda)^{r-1-l} \frac{(-1)^{r-1} l!}{[l+1]_{p, q}^{k}}\right) \frac{t^{r}}{r!} .
\end{gathered}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ in both sides, we have (28).

Theorem 3.12. The following relation holds true:

$$
\begin{gather*}
2\left\{\sum_{m=0}^{n}\binom{n}{m} K_{m, p, q}^{(k)}(x \mid \lambda)(\lambda)_{n-m}-K_{n, p, q}^{(k)}(x \mid \lambda)\right\} \\
=\lambda n\left\{\sum_{m=0}^{n-1}\binom{n-1}{m} C h_{m, p, q}^{(k)}(x \mid \lambda)(\lambda)_{n-m}+C h_{n-1, p, q}^{(k)}(x \mid \lambda)\right\} . \tag{29}
\end{gather*}
$$

Proof. From (19) and (20), we write as
$2 \sum_{n=0}^{\infty} K_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!}\left((t+1)^{\lambda}-1\right)=\lambda \sum_{n=0}^{\infty} C h_{n, p, q}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!}\left((t+1)^{\lambda}+1\right) t$.
After making the mathematical operation for these equation, we have (29).
Corollary 3.13. From (19) and (20), we have the following relationships between the $(p, q)$-poly-Korobov polynomials and the Korobov polynomials, the ( $p, q$ )-poly-Korobov-type Changhee polynomials and the Korobov-type Changhee polynomials, respectively,

$$
n K_{n, p, q}^{(k)}(x \mid \lambda)=\sum_{r=0}^{n}\binom{n}{r} K_{n-r}(x \mid \lambda) \sum_{l=0}^{\infty} \frac{(-1)^{l+r}(l+1)!}{[l+1]_{p, q}^{k}} S_{2}(r, l+1)
$$

and

$$
n C h_{n-1, p, q}^{(k)}(x \mid \lambda)=\sum_{r=0}^{n}\binom{n}{r} C h_{n-r}(x \mid \lambda) \sum_{l=0}^{\infty} \frac{(-1)^{l+r}(l+1)!}{[l+1]_{p, q}^{k}} S_{2}(r, l+1)
$$

## 4. Conclusion

The important subjects of the Analytic number theory are the Bernoulli polynomials and Euler polynomials. Srivastava [15], Srivastava et al. in ([16], [17]) introduced and investigated some basic properties of these numbers and polynomials. They proved some theorems and recurrences relations for these polynomials. Carlitz [3] introduced degenerate Bernoulli polynomials. Bayad et al. in [2], Hamahata [4], Imatomi et al. [5], Kim et al. ([6], [7]) considered and investigated poly-Bernoulli and poly-Euler polynomials. Kim et al. ([9], [10]) and Kruchinin [12] introduced Korobov polynomials. Kim et al. [10] considered the Korobov type polynomials associated with $p$-adic integrals on $\mathbb{Z}_{p}$. Komatsu et al. [11] introduced and investigated the $(p, q)$-analogue of poly-Euler polynomials.

In this work, we define the degenerate Korobov-type Changhee polynomials. We give some relations between the Euler polynomials and the degenerate Korobov-type Changhee polynomials. Further, we consider the $(p, q)$-polyKorobov polynomials and the ( $p, q$ )-poly-Korobov type Changhee polynomials. We give some recurrence relations and identities for the degenerate Korobov-type Changhee polynomials and the ( $p, q$ )-poly-Korobov-type Changhee polynomials.

## References

1. A. Boussayoud, M. Kerada, S. Araci, M. Acikgoz and A. Esi, VSymmetric Functions of Binary Products of Fibonacci and Orthogonal Polynomials, Filomat 33 (2019), 1495-1504.
2. A. Bayad and Y. Hamahata, Polylogarithms and poly-Bernoulli polynomials, Kyushu J. Math. 65 (2011), 15-34.
3. L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Util. Math. 15 (1979), 51-88.
4. Y. Hamahata, Poly-Euler polynomials and Arakawa-Kaneko type zeta functions, Functione et. App. Commentarii Mathematica 51 (2014), 7-22.
5. K. Imatomi, M. Kaneko and E. Takeda, Multi-poly-Bernoulli numbers and finite multiple zeta values, J. of Integer Sequences 17 (2014), 1-12.
6. T. Kim, Multiple zeta values, Di-zeta values and their applications, Lecture notes in Number Theory, Graduate Schools, Kyungnom University (South Korean), 1998.
7. D.S. Kim and T. Kim, A note on poly-Bernoulli and higher order poly-Bernoulli polynomials, Russian J. of Math. Physics 22 (2015), 26-33.
8. T. Kim and D.S. Kim, Korobov polynomials of the third kind of the fourth kind, Springer Plus 2015 (2015), 1-23.
9. D.S. Kim, T. Kim, H.-I. Kwon and T. Mansour, Korobov polynomials of the fifth kind and of the sixth kind, Kyungpook Math. J. 56 (2016), 329-342.
10. D.S. Kim, T. Kim, Some identities of Korobov type polynomials associated with p-adic integral on $\mathbb{Z}_{p}$, Advances in Diff. Equa. 2015 (2015), 282.
11. T. Komatsu, J.L. Ramirez and V.F. Sirvent, $A(p, q)$-analogue of poly-Euler polynomials and some related polynomials, arxiv. 1604, 2016.
12. D.V. Kruchinin, Explicit formulas for Korobov polynomials, Proceeding of the Jang. Math. Soc. 20 (2017), 43-50.
13. B. Kurt, Notes on the Poly-Korobov Type Polynomials and Related Polynomials, Filomat 34 (2020), 1-9.
14. J.J. Seo and T. Kim, Degenerate Korobov polynomials, Appl. Math. Sci. 10 (2016), 167173.
15. H.M. Srivastava, Some generalization and basic (or $q-$ ) extensition of the Bernoulli, Euler and Genocchi polynomials, App. Math. İnform. Sci. 5 (2011), 390-444.
16. H.M. Srivastava and J. Choi, Series associated with the zeta and related functions, Kluver Academic Pub., Dordrect, Boston and London, 2001.
17. H.M. Srivastava, M. Garg and S. Choudhary, A new generalization of Bernoulli and related polynomials, Russion J. of Math. Phys. 17 (2010), 251-261.
18. W.A. Khan, Idrees A. Khan, Musharraf Ali, Degenerate Hermite poly-Bernoulli numbers and polynomials with q-parameter, Stud. Univ. Babes-Bolayi Math. 65 (2020), 3-15.
19. Waseem A. Khan, Idrees A. Khan, A note on ( $p, q$ )-analogue type of Frobenius Genocchi numbers and polynomials, East Asian Mathematical Journal 36 (2020), 13-24.
20. Waseem A. Khan, K.S. Nisar, Notes on $q$-Hermite based unified Apostol type polynomials, Journal of Interdisciplinary Mathematics 22 (2019), 1185-1203.
21. Waseem A. Khan, Idrees A. Khan, Musharraf Ali, A note on q-analogue of Hermite poly-Bernoulli numbers and polynomials, Mathematica Morvica 23 (2019), 1-16.
22. J.Y. Kang, Waseem A. Khan, A new class of $q$-Hermite-based Apostol type Frobenius Genocchi polynomials, Communication of the Korean Mathematical Society 35 (2020), 759-771.
23. Waseem A. Khan, I.A. Khan, M. Acikgoz, U. Duran, Multifarious results for $q$-Hermite based Frobenius type Eulerian polynomials, Notes on Number Theory and Discrete Mathematics 26 (2020), 127-141.
24. Waseem A. Khan, K.S. Nisar, D. Baleanu, A note on ( $p, q$ )-analogue type Fubini numbers and polynomials, AIMS Mathematics 5 (2020), 2743-2757.

Burak KURT graduated from Department of Mathematics, Akdeniz University, Antalya, Turkey. He has recently joined as doctor the Department of Mathematics, Akdeniz University of Education, Antalya TURKEY. His research interests are pure and applied mathematics including special functions, generating function, q-series and q-polynomials, theory of ( $\mathrm{p}, \mathrm{q}$ )-calculus, padic analysis and analytic number theory, Hermite polynomials etc.
Akdeniz University, Mathematics of Department, Antalya TR-07058, TURKEY.
e-mail: burakkurt@akdeniz.edu.tr
ORCID ID: https://orcid.org/0000-0003-3275-4643
Veli KURT graduated from Department of Mathematics, Ege University and Ph.D. from Ege University. He is currently emeritus since 2016. His research interests are pure and applied mathematics including special functions, Dirichlet Series, generating function, q-series and q-polynomials, theory of ( $\mathrm{p}, \mathrm{q}$ )-calculus, padic analysis and analytic number theory, Hermite polynomials etc.
Emeritus, Antalya, TR-07058, TURKEY.
e-mail: vkurt@akdeniz.edu.tr


[^0]:    Received July 14, 2020. Revised August 25, 2020. Accepted September 8, 2020. ${ }^{*}$ Corresponding author.
    ${ }^{\dagger}$ The present investigation was supported, in part, by the Scientific Research Project Administration of the University of Akdeniz.
    © 2021 KSCAM .

